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問1 a:2 6:1 

問3 2比02 - 。2 + 2比0

問4反応の活性化エネルギ ー を低下させることにより反応速度を大きくする触媒としての働き
を持つ。

問2 0.30 

問5 (イ）1.8 X lQ-3 

9.20 x 1 o-4 mo] x 2 = 1.84 x I o-3 mo] 

（ウ）0.72

0.900 mol/L x 0.0100 L-1.84 x 10-3 mol 
= 0.716 mol/L 

O.OIOOL

（エ）0.18

(0.716- 0.900) mol/L 
= 0.184 mol/(L·min) 

(1.00- 0.00) min 

（オ）0.81

(0.716 + 0.900) mol/L 
= 0.808 mol/L 

2 

（力）9.2 X lQ-2 （キ）0.40

3.00 minにおける[H2伍］
0.900 mol/L x 0.0100 L-2.26 x 10-3 x 2 mol 

0.0100 L 
= 0.448 mol/L 

4.00 minにおける[H202]

0.900 mol/L x 0.0100 L-2.72 x 10-3 x 2 mol 
= 0.356 mol/L 

O.OlOOL

したがって

v = -
(0.356 - 0.448) mol/L

= 0.092 mol/(L·min 
(3.00 -2.00) min ） 

[H凸］＝
(0.356 + 0.448) mol/L 

= 0.402 mol/L 
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問6 1 

問7 0.23 単位： ／min 

0.184 rnol/(L·rnin) = k x 0.808 rnol/L k = 0.227.../min 
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